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(1) GRECR ditl-YAoll % scll Adutse UR YRt 4Ad [(Aad oiyollell GUlol sl

() GReARA Wdlal udleuHi HAd Y236l UayRasiHl vWAA Usl sHIs Yool ditl-
YA % ol el AHIM citll-y Aol AoAse U2 YR YA WABAA wlodR Sloil
Ysl sHis Yol wal A deelui % sal

(3) GHEARIN Gscl YAolle] WYS UlEsl 59 oAUl citil-YAsll B sc 1Al taulal
Acud «iél.
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001.

002.

003.

004.

005.

006.

007.

008.

009.

010.

Y5 cuRani A1 Wh Al Wg sswn vzl an 5§ ?
(A) ey (B) 2Aux
(C) dlad (D) wvfladl
58 Ry vl 2izgldqu su 220 sust - T 21 Mrdswen el udan el Al
uai €9 ? |
(A) diad (B) arggal (C) simdla (D) wig-o4-€3)
el A wel-11 08 Adl D2 2uia [Qsedinid w2l ais urie s
el - | wel i
a) 1.ode i) Glorliel AAS
b) adde i) wlest ofldinl Ane
c) WHde i) ot oAl AN
d) azde iv) el@yai-l A
Codes :
(A) a-ii, b-i, c-iv, d-iii (B) a-iii, b-ii, c-i, d-iv
(C) a-iv, b-ii, c-iii, d-i (D) a-i, b-iii, c-ii, d-iv

@ 4L $U Ul S0l HIRAY gai-guzetrl Rigid U aL wa o ?

(A) Yo (B) s

(©) s sudl (D) 2ugag
046 G121 U] 1AL 22 GHEL A’ At U 2uElEa B ?
(A) g2 dll Aeggl (B) ulou s
(C) vl arraldsdl (D) Hl&

DA U4 @ it Ry vl 203 A swvuia slaen / vigar i Syt o-w yd 5174 514
Rugis s edl ? :

(A) da (Scylax)  (B) Ry (Xerxes)  (C) 23ui) (Strabo) (D) d3\dlaw (Herodotus)

BACSIGUE Rel™ UR vl (MAlRR) Siv gIRL SR 20 ?

(A) ®asydl (B) siedlen (C) sdA-u (D) W
Aestul G4f5a (u2) U adladl agid _ s3I YAl Sl

(A) usels (B) Guidst (C) Axgs (D) usIHIA
5@l Aol ofl Aot AL 52l A Heccloll AFLA FoA ocll ?

(A) YUY A1 HYRL (B) YWY 21 wizellyst

(C) R-ue A1 2001 (D) HYU At AR
[Qsurisiga-aRa, Qsula-vi, seud agsa um vl walH S gz awida 8 ?
(A) AalBdl (B) oflesirit (C) souda (D) cudl
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001.

002.

003.

004.

005.

006.

007.

008.

009.

010.

Which of the following is the largest Harappan site in modern India ?
(A) Sanghol (B) Ropar
(C) Lothal (D) Rakhigarhi

In which one of the Indus valley civilization sites is the earliest known evidence of dyeing
and embroidery of cotton textiles found ?
(A) Lothal (B) Chanhudaro (C) Dholavira (D) Mohenjodaro

Match List — | with List — Il and select the correct answer from the codes given below the list

List -1 List -1l
a) Rigveda i) A collection of Hymns
b) Atharvaveda ii) A collection of Holy songs
c) Samaveda iii) A collection of Spells and charms
d) Yajurveda iv) A collection of Sacrificial formulas
Codes :
(A) a-ii, b-i, c-iv, d-iii (B) a-iii, b-ii, c-i, d-iv
(C) a-iv, b-ii, c-iii, d-i (D) a-i, b-iii, c-ii, d-iv
The important contribution of Jainism to Indian Philosophy is the doctrine of
(A) Rebirth (B) Karma
(C) Existence of Individual souls (D) Syadvada

The ‘Four Nobel Truths’ are propounded by Buddha are centred upon
(A) Suffering and its extinction (B) Right Action
(C) Ultimate reality (D) Salvation

Who among the following was appointed by Darius to explore the valley of the Indus river
and its tributaries in 517 BC ?

(A) Scylax (B) Xerxes (C) Strabo (D) Herodotus
Allahabad Pillar Inscription (Prashasti) was composed by

(A) Bhavbhuti (B) Kalidasa (C) Harisena (D) Magh

The head of the administration of Bhukti (province) in the Gupta period was called
(A) Paradesika (B) Uparika (C) Rajuka (D) Mahamatra
Which of the following were the two important political centres of Kanishka’s Empire ?
(A) Purushapura and Mathura (B) Purushapura and Pataliputhra

(C) Sarnath and Shrinagar (D) Mathura and Saranath
Vikramankadev-Charitra, a eulogistic text on Vikramaditya VI, the Chalukya king of Kalyani
is written by

(A) Ravi Kirti (B) Bilhana (C) Mangalesa (D) Bhani

CSP-01 - A 3 P.T.O.
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011, El—1 4wl — 11 8 A DA 2ude [Asedinied e wan yde 3.

el — 1 el - 1
a) sl si-4 (Nicolo Conti) ) His5+ ua{l (Moroccon Traveller)
b) Sl@e.oN W (Domingos Paes) i) dA-laflan uaxll (Venetian Traveller)
) Som 12218 (Ibn Battutah) i) A uafl (Russian Traveller)
d) uAA0un N4+ (Athanasius Nikitian) iv) uiZoMlos nend) (Portuguese Traveller)
Codes :

(A) a-ii, b-iv, c-i, d-iii ~ (B) a-iii, b-ii, c-iv, d-i (C) a-ii, b-i, c-iv, d-iii (D) a-iv, b-iii, c-ii, d-i

012. 2 oR8S 3 FUL §.20.1725 4 HEIAE A HASIAL G121 daid lnaal e Yidi-u 2o
islanuiell visell (Ransom) yyn),

(A) 96 uiliew wausd (B) 9 qallaig
(C) 96 vjauazie (D) 98 wHen
013. dlalulglse Audd you uas s S ?
(A) 3UR (B) Wwifad (C) daair (D) wu

014. WAl uropll At 52 M2 Bidley giaL v A81ER Ase’ g1zt Y4 AR el HLHELUEAL
EE] Ga‘wm[?lg “UH gual.

(A) 26 412 Vo afla (B) ELEIMIS AAD
(C) “URAED QQévt@ Yy, (D) aflet vlonvizy W52 visduduy
015. Hehl vitd “Sflart A 200l (2. 207,21, ) 22a1-l yay Rz Ay syl
(A) WieRiy (B) uusis1d] sl
(C) yYounis oiios (D) [RRopfFe oNa
016. AXAAHL HElR sl 247 yldil viracul sou s Ay g1 wadl wianmi udl O ?
A) aly (B) aimy (C) ¢l (D) Ay
017. ‘Gua-R geuR Alda dlg’H) nu-n 518 53 ? ,
(A) avdlRise (B) cnalise -1
(C) cualis® - Ii (D) g

018. ‘U MloAH 2ls 4 2] : S22 A 23 S22 Ay’ (‘The Problem of the Rupee : Its Origin
and Its Solutions”) -uHg Yas 518 Qv ?

(A) 3L oll. 2uR, Aiti3s (B) ¥iu. 3. il
(C) Axiwenudl asadl (D) »uS.2. w24
019. Da-u Ul 53 iy vilaidl dieglag 220 Sy o4 udeil Ad sz vl ugFzi eufd 8 ?
A) His-A-g3l (B) gawy (C) aivudlal (D) A&2018
020. HeURA UHIG, BI51-GUU 5 Al 8ell ?
(A) -usudly 52580 uRRaui (B) Mrldivl, duusl 247 asllsiil u2
(C) uewurll rallami crasl vz (D) Rius swi-u Guailo w2
021. ‘AR’ H-A vdlawd diq 518 cndy widl ?
(A) xaGélivila  (B) HISHE dads (C) (332 aaas (D) Yeusvilae
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011. Match List — | with List — Il and select the correct answer from the codes given below the

list

List -1 List -1l
a) Nicolo Conti i) Moroccon Traveller
b) Domingos Paes i) Venetian Traveller
c) Ibn Battutah i) Russian Traveller
d) Athanasius Nikitian iv) Portuguese Traveller
Codes :

(A) a-ii, b-iv, c-i, d-iii  (B) a-iii, b-ii, c-iv, d-i  (C) a-ii, b-i, c-iv, d-iii (D) a-iv, b-iii, c-ii, d-i

012. The Nagarsheth who intervened to save the city of Ahmedabad from being looted by the
Marathas by paying ransom money from his personnel funds in 1725 was

(A) Sheth Santidas Jawahari (B) Sheth Lakshmichand
(C) Sheth Khushalchand (D) Sheth Shamlaji
013. Where is the Headquarter of the Theosophical Society situated ?
(A) Adyar (B) Pondicherry (C) Banglore (D) Pune

014. Name the leading Parsi industrialist of Ahmedabad who was awarded the ‘Khan Bahadur
Medal’ by the English for his services rendered to the Parsi Society

(A) Sheth Naoroji Pestaniji Vakil (B) Dadabhai Naoroji

(C) Kharshedji Ferduniji Parekh (D) Vakil Bejanji Manekji Ankleshriya
015. The idea of the Indian National Army (INA) was first conceived in Malaya by

(A) Mohan Singh (B) Rasbehari Bose

(C) Subhas Chandra Bose (D) Niranjan Singh Gill

016. The Art of temple building and making the idols has been preserved by a community in
Gujarat Known as

(A) Kshtriyas (B) Sompuras (C) Bhils (D) Vaishyas
017. Who founded ‘Bhavnagar Darbar Savings Bank’ ?
(A) Takhtasinhiji (B) Bhavsinhiji-
(C) Bhavsinhiji-ll (D) Krishna Kumarsinhiji
018. Who wrote a book entitled “The Problem of the Rupee : Its Origin and Its Solutions” ?
(A) Dr. B. R. Ambedkar (B) M. K. Gandhi
(C) Rajagopalachari Chakravarti (D) I. G. Patel

019. Which of the following Indus Valley Civilization site shows continuous occupation from
the seventh millennium BC ?

(A) Mohenjodaro (B) Harappa (C) Dholavira (D) Mehrgarh
020. According to the Arthashastra udka-bhaga was a tax levied

(A) In situation of fiscal crisis (B) On actors, singers and prostitutes

(C) Cultivation in crown (D) Use of irrigation works

021. The scheme of extending agricultural loans Sondhar was introduced by
(A) Alauddin Khalji (B) Muhammad Tughlaqg (C) Firuz Tughlaq (D) Mubarak Khalji

CSP-01 - A 5 P.T.O.
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022, -UrSIR NAL Sl HeTld dam ed ?

(A) Rorunia Agpacdatd (B) stsdlun A%udatd
(C) Slurua Asudstd (D) orgiusll Apuda

023. 1857 il MIRA-U i1 AWH R oAl B2 2o ypna-u QA A4 s s
AHAH UG 28 3 FuL 20l i Wy O 2
i) BIRASLL dUUsALS

i) 321

i) uenfluon-
V) Aal-dReL AH

V) ApseHL SLSIR AL v AR - |

(A) i, ii 2 i (B) i, iii,iv%ﬁ\(
(C) i, ii, iii AR iv (D) i, ii, iii, ivi v
024. YRAd-ll 521 WA HHHE S WL 812 2l o1 dd 1178 Hil 4orRud U A 531 ?
(A) flu- | (B) suRwn
(C) ol - 11 (cilar-cilu) (D) seleq

025. dlwlZei A A1 U4 Sl 2 2soudd A s ?
(A) ud-2u ils S[RuA AU
(B) lue sHla 24 SRU dorr
(C) Aud sflain 2 yoels adlua S+ SRu

(D) 355+ lapydan Aluudl
026. destotll €l [Aaraid 5 20y A€l a3 viovviami 20d © ?

(A) Bau (B) dl (C) movz-g1521 (D) Ad
027. ®AdlL 2521 HAHT Pstnml 518 Geudfldl st vitud) ?

(A) dl23- uou (Virsena Saba) (B) 88l (Harishena)

(C) wulerl (Parnadatta) (D) asul&dl (Chakrapalita)
028. 5ul el A Uldirll At H12 A2 s elei-d Gualoy sl ?

(A) A - | (B) dgdd - Il (C) U{sI (D) MR -1
029. $41 Hérll tllg AYALH §-2-201 AL 2 welean uedl wal e i ?

(A) usieidll us (B) AIR-AUS

(C) zaurldu us (D) BEHR s
030. 12+ W) 53 F cwvu =4l ?

(A) 2waRidL Yot (B) yaslda (C) seuy (D) [agsglon
031. ‘UyREa’™l x4 9 ?

(A) qrraus o+l (B) st el ol

(C) aaiwiiA 2wl ol (D) wsl Rt 212d Aaude ol
032. DA Ul 518 5&f 5 deia 2 B¢ 2uencu 2RFAAD wdHalZa S ?

(A) [Qdsi-ie (B) suirie uadl

(C) oll. 2R, AiKASSR (D) HSLML SAURN%
033. g2 Wl 22 sui squui 2ud) ? R} .

(A) dsl (B) flouulz (C) WA (D) 2t silA2s

CSP-01 - A 6 [Contd.
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022.

023.

024.

025.

026.

027.

028.

029.

030.

031.

032.

033.

The Nayankara system was an important feature of
(A) Vijaynagara polity (B) Kakatiya polity
(C) Hoysala polity (D) Bahamani polity
Throughout the Indian war of Independence of 1857 the British in Gujarat enjoyed support
from which of the following rulers in Gujarat ?

i) Gaekwads of Baroda

ii) Raja of Idar

iii) Raja of Rajpipla

iv) Jam of Nawanagar

v) Thakore Saheb Lakhaji Rajsinhiji-I of Rajkot
(A) i, ii andiii (B) i, iii, ivand v
(C) i, ii,iiiand iv (D) i, ii, iii, ivand v
Which ruler of Gujarat inflicted a terrible defeat upon Muhammed Ghori who had
attacked Gujaratin 1178 AD ?
(A) Bhima-I (B) Kumarapala
(C) Bhima-Il (Bhola -Bhima) (D) Karanadeva
Gopala Krishna Gokhale was not associated with which of the following
(A) Servants of Indian Society
(B) Royal Commission on Indian Labour
(C) Royal Commission on Public Services in India
(D) Deccan Education Society

The Vedic river Vitasta has been identified with which of the following modern river ?

(A) Jhelum (B) Ravi (C) Ghaggar-Hakra (D) Sutlej

Who got constructed the Udaigiri Cave during the Gupta Period in honour of Lord Shiva ?
(A) Virsena Saba (B) Harishena

(C) Parnadatta (D) Chakrapalita

Which Gupta king used the Ashokan Pillar for executing his own inscription on it ?

(A) Chandragupta-l (B) Chandragupta-ll (C) Samudragupta (D) Kumaragupta-I
The Buddhist monks of which monastery wrote letters to Hiuen-tsang after he had reached
back to China ?

(A) Mahabodhi Monastery (B) Sarnath Monastery
(C) Sthanavishvara Monastery (D) Jalandhar Monastery

Which of the following is not a Jain text ?
(A) Acharanga Sutra (B) Sutrakritanga (C) Kalpasutra (D) Vissudhimagga

What is ‘Sayurghal’ ?

(A) The hereditary land (B) Rent-free land

(C) Land given to the intermediaries (D) Land taken on terms of share-cropping
Among the following who said that the Vedanta was the expression of Hindu spiritual
authority ?

(A) Vivekananda (B) Dayanand Saraswati

(C) B. R. Ambedkar (D) Mahatma Hans Raj

Where was the Ghadar Party formed ?

(A) London (B) Singapore (C) Paris (D) San Francisco

CSP-01 - A 7 P.T.O.
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034. A U4 su1 GuRugni sy wonad ad »ud © ?
(A) us-u (B) 2 (C) #eidy (D) s
035. %R g HeRMal ud 53 cud dx-d il siwL ga ? .
(A) woudluz dle - (B) aude (C) Guicll (D) w-rdlsel
036. ~la-u Ul & [Quuril il il ayeet uzde 53,
1) 6.20.323 | Ads0321] Yey %Y,
2) drit 3ey oue [y €l ug alsd axdea wiw 2lanuemi adl ay,
Codes : _
(A) [a8im 1 214 2 649 i (B) Q@eunt 1 214 26{1 vilei
(C) Qa1 2 1A 2wiig (D) [t 1w 21 2 2019
037. Na-unidl 53 qvuat N Aoycistdl [Qordar wRd 20l 9 ?
(A) gl (B) 2tsfouzat (C) Rl (D) eiend)
038. i 2enucy si-udl ueulda & ?
(A) A (B) viui (C) A-ucielau (D) ul¥a
039. dciel sivil gl a3 oaellar & ?
(A) AU AYELRA (B) &uddd Ausiy
(C) 3a Aucw (D) AR AuE
040. ~llal-u U4 s Ayeier A A AalRs 2vitd get ?
(A) %2 (B) idu (C) ¥as (D) A ussleu
041, -lla-u A4 518 Ad5 oy (3 ¢4 sBa-yd AR B) v eRus A 59 ?
(A) A% Al (B) %~ Al
(C) uemdlauey Aicn (D) geiga Al
042. DA-unie s HRA e fsnw el ? . r
(A) ot w2l (B) Mo 3 +ife
(C) vsusiay (D) 2lug ¥l
043. DA AR ANV AUl AHA-L $H UG, sl .
1) oflugq -1 2) FHRUN 3) [agax 4) GAMRAY
Codes :
(A) 1,3,2,4 (B) 4,1,3,2 (C) 4,3,2,1 (D) 1,3,4,2
044, ApAd-u A U4 g1 el el ey ? |
(A) 28Hgs (B) udug torst (C) HslgAUs (D) Y82 -1l
045. Aot 5ul AN 12 Hl AL 2131 Bt 244 Al d-i aouui w-ud sudl edl ?
(A) el# -1 (B) sl (C) RN (D) msvur
046. “yed) § o [A2elloll g1t A 28 € d 2819 14 2081 WA Y.” (“The earth long harassed by
outlanders, now turned for protection and refuge”) 41 a1, sigl 3@ ?
. - . C
(A) Ad 532 (B) Sidley (C) 3. (D) Asdpd WY
CSP-01 - A 8 [Contd.
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034.

035.

036.

037.

038.

039.

040.

041.

042.

043.

044.

045.

046.

The Story of Satyakama Jabala appears in which of the following Upanishads ?

(A) Prashna (B) Isha (C) Chhandogya (D) Katha
Who was by the side of the Buddha when he achieved Mahaparinirvana ?
(A) Moggaliputta Tissa (B) Ananda (C) Upali (D) Anthapindada

Read the following two statements and select the correct answer from the codes given
below.

1) Alexander died in 323 CE.

2) With his death, the Greek control along the Sindhu river weakened considerably.

Codes :

(A) Both 1 and 2 are correct (B) Both 1 and 2 are incorrect

(C) 1 is correct but 2 is incorrect (D) 1 isincorrect, 2 is correct

Which of the following texts give a detailed information on Mauryan polity ?

(A) Manusmriti (B) Arthashastra (C) Nitisara (D) Ashtadhyayi
The Mauryan architecture is said to have been influenced by that of

(A) China (B) Burma (C) Anatolia (D) Persia

The Gupta were known adherents of the

(A) Sakya Sampradaya (B) Bhagawata Sampradaya

(C) Shaiva Sampradaya (D) Saura Sampradaya

With which of the following dynasties Harshavardana had matrimonial relations ?
(A) Rashtrakutas (B) Gangas (C) Maitrakas (D) Later Guptas

Who among the following sent a naval expedition to the Shailendra empire (now in South
East Asia) ?

(A) Rajaraja Chola (B) Rajendra Chola

(C) Rajadhiraja Chola (D) Kulottunga Chola
Which of the following temples does not belong to Solanki period ?

(A) Taranga Temple (B) Modhera Sun Temple
(C) Rudra Mahalaya (D) Temple at Gop

Arrange the following Solanki kings in chronological order and choose the correct answer
from the codes given below.

1) Bhimdeva - | 2) Kumarapala 3) Siddharaja 4) Durlabharaja
Codes :
(A) 1,3,2,4 (B) 4,1,3,2 (C) 4,3,2,1 (D) 1,3,4,2

Which of the following Sultans of Gujarat took Malva ?
(A) Ahmad Shah (B) MahmudBegda (C) Bahadur Shah (D) Muzzaffar — Il

Which king of Gujarat forbade production or sale of liquor in his Kingdom in 12th century

AD ?

(A) Bhima-I (B) Karna (C) Kumarapala (D) Zafar Khan

“The earth long harassed by outlanders, now turned for protection and refuge”.

Who said it ?

(A) Alexander (B) Kautilya (C) Ashoka (D) Chandragupta Maurya

CSP-01 - A 9 P.T.O.
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047. et sl uMS WA 2 ?

(A) g - | (B) aeicsa (C) dgopd - Il (D) &HIR3pA - |
048. DA UA 5§ W3 W2y efl ?

(A) ueadid axRs - el

(B) unzg2 el o2 usdl - Saliid Seu 3l

(C) Aled WA ERUA 5304 Y, - AUAAIRY

(D) diofir - eiead w22
049. 2 U4 54 NsE W2 well ?

(A) gadadl - sligan-u-dl el (B) ajgollol - »igug 012 usondl
(C) wgn wiou - 2156120 S 1l (D) uof¥gtus - sl
050. gl -1 wi ude alZaia WeEl -1 Hi 2ude A e Al
gl -1 el —1I
(a) 2arg-ud 2100 ) wraysuc
(b) esuildou sd i) qracild A
(c) gaRM Hl i) 8o 240y
(d) Q- 2A[2x8i-0 V) qcyalias usl
Codes :

(A) a-i, b-iii, c-iv, d-ii ~ (B) a-ii, b-iv, c-i, d-iii  (C) a-iii, b-ii, c-i, d-iv (D) a-iv, b-iii, c-ii, d-i
051. It st deil AU $HUL sl

1) oo Ao ulRne 2) A=A sl

3) eiflsa 4) osluicaen oud susis

Codes :

(A) 2,1,44 3 (B) 4,2,3 i1 1 (C) 3,1,4%12 (D) 1,2,4%13

052. ygiert AL Yonoirll digieil U+ A “Uor 2us22 U s dncll aoueses il Rua
w12dlal”’ (“page after page of thinly disguised official whitewash”) s&il.

(A) S s3flam (B) svex slain

(C) »flun s¥flaint (D) Gu-u 4l i Al
053. dioagR, dlRa-ugdl oroufdvaid siza wlaxug - D W5 wrie s

(A) 2% (B) 4sg (C) dlds: (D) HlRuyR “elHl
054. AR [Rrecnni 2udan oy 21 AlA- WAL 56 2aues el 9 ?

(A) RAHA (B) Hud (C) Agsu (D) S=si-21x
055. 2l sRer 58 s uouel-u edi ?

(A) 3 wenell (B) 2fus weuel (C) arsuaucl (D) uvll woudll
056. 58 Ad HeUAl HIRR HIGW AL VAUEA U HIR 35 6 ?

(A) ouBa (B) uinavu (C) nsount (D) Hsylu
057. wianuedl adl QA QA san aosuul avuu ¢ ?

(A) dlRang (B) 3 (C) suies (D) dedunu
058. {alz v’ 1 sun Au-dl v ardl ¢ ?

(A) [Pz (B) U (C) sul2s (D) [R*uauea
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047. Which emperor from Gupta Dynasty conquered Saurashtra ?
(A) Chandragupta—1 (B) Ghototkacha (C) Chandragupta—II (D) Kumargupta — |

048. Which of the following pair is not correct ?
(A) Emblem of Pallavas — Elephant
(B) Rashtrakuta King Krishna — | — Kailash Temple of Ellora
(C) Kamban wrote during Chola rule — Ramavataram
(D) Tanjaur — Brihadeshwara temple

049. Which of the following pair is not correct ?
(A) Durgawati — Queen of Gondwana (B) Chandbibi — Princess of Ahmednagar
(C) Maham Anaga — Foster Mother of Akbar (D) Arjumandbanu — Nurjehan

050. Join the persons in List — | with Organizations given in List — |l :

List—1 List -1l

Manav Dharma Sabha
Tatavabodhini Sabha
Dev Samaj
Satyashodhak Sabha

(a) Devendranath Tagore i
(b) Jyotiba Phule ii
(c) Durgaram Mehta ii

)
)
)
(d) Shivnarayan Agnihotri iv)

Codes :

(A) a-i, b-iii, c-iv, d-ii ~ (B) a-ii, b-iv, c-i, d-iii  (C) a-iii, b-ii, c-i, d-iv (D) a-iv, b-iii, c-ii, d-i

051. Arrange the following events in chronological order and choose the correct answer from
the codes given below.

1) Second Round Table Conference 2) Event of Chauri Chaura
3) Dandi March 4) Jallianwala Bagh Massacre

Codes :

(A) 2,1,4and 3 (B) 4,2,3and 1 (C) 3,1,4and 2 (D) 1,2,4and 3
052. Mahatma Gandhi described the on Punjab disturbance as “page after page

of thinly disguised official whitewash”.

(A) Simon Commission (B) Hunter Commission

(C) Aitchison Commission (D) None of the above
053. Select from the following name of the world famous metal sculpture of Tanjavur Tamil Nadu.

(A) Natraj (B) Buddha (C) Tirthankar (D) Mahishasura Mardini
054. Which of the following is the architectural style of Gop temple situated in Jamnagar

district ?

(A) Roman (B) Mughal (C) Chalukya (D) Indo-Aryan
055. Swami Haridas belonged to which Bhakti cult ?

(A) Gaudiya Cult (B) Rasik Cult (C) Varkari Cult (D) Sakhi Cult
056. Which saint tradition put emphasis on the concept of ‘Maner Manush’ ?

(A) Baul (B) Panchsakha (C) Sahajyan (D) Mahapurushiya
057. In which of the following states are the Pochampally Sarees woven ?

(A) Tamil Nadu (B) Kerala (C) Karnataka (D) Telangana
058. ‘Litty Chokha’ is a special food dish of which state ?

(A) Bihar (B) Punjab (C) Karnataka (D) Himachal Pradesh
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059. +l2i-it W4l 5 oA dl el =ell ?
(A) Axl-u - st Raas eus w1Rkza4H

(B) nf@i-na - 2sua A dlels2
(C) usiuey-ua - oA AN A YA
(D) 2agiiesn - widlz e il yAl

060. G, ®ola s8I Watas it % dea-l cua el vard-un 530, d san-usd s S ?

(A) H2 A (B) “reit (C) Buusll (D) guR
061. Y[3d cluAr oAl su @i’ 8 d gudl?

(A) ouyR (B) sanf@ur (C) (3u (D) 2u
062. , 5 32 §AYA 1 MRd-ueanL ABU G512 € duA stesll Al WURS Y51

YH 2 AR WUl 69,

(A) slia-i -8t (B) wfRis auaeus

(C) 2sul@ed) xxdq (D) Ala Wl
063. -1 UL 56 2e g1 WM Yauidss ruad sl 2d O ?

(A) 9ud [Qendls (B) 9221 3 st

(C) afxrud AR el (D) drRud AUldeu ulRue
064. ojor2ud-i s Aaldls Aga / Aeuml 2ulZufl Ansiax 2udg ¢ ?

(A) 2par3td YRaR (B) =g yRaH

(C) el yRakd (D) opor1a [aedls
085.  ogwit 9poaudl 2 siH, Sl -2 st ‘elvunBial adld 2nviidl s ?

(A) 4 [Aeus (B) gaaie wms

(C) nsisr Mz (D) seues Hinaue
066. “dlalzl’ 58 ld-u udl2 GAa & ?

(A) Hl-u (B) drwflau (C) Rusa (D) “ilRu
067. ‘alduld 2imern’ 2 s Aou-l 2ulEauzll ayg 8 ?

(A) Bwiad uea (B) Yzud (C) sales (D) iR
068. AWHIs-uis[As Ad vard-un sl 2z i - A8 ol sui Goraaiui ud € ?

(A) sio [Feanui (B) euele [yeaui

(C) aaus Brecuni (D) uansi [yecuni
069. ‘b &M 531 usl, sde & 3.’ U iz s (A gy [UR] 2udl €9 ?

(A) ~Suaud (B) Guueis sl

(C) e duwsll (D) «de
070. Heusdl ol B euui siqu (A8 AAg sdand, “2 Mumni 516 5(a datrn Yorsii wor vll

A5 dH dl”

(A) -usR (B) EUIRIH (C) uasl (D) dHi-e
071. ‘4l RAsR’ a5 stel el g ? _ ,

(A) vildlern uRHIR (B) 991008 ANed

(C) aryga »ud (D) sUracud IR
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059. Which of the following pair is not correct ?
(A) Neminath — Krishna’s cousin Arishthanemi
(B) Mallinath — The only woman Tirthankar
(C) Padma Prabhunath — Son of Banaras King Ashvasen
(D) Anojja — Daughter of Mahavir Swami

060. Usha, the grand daughter-in-law of Lord Krishna is supposed to have popularized the Lasya
form of dance known as

(A) Mer Rass (B) Garba (C) Tippani (D) Ghummar
061. Mention the Gharana of Pandit Bhimsen Joshi.

(A) Jaipur (B) Gwalior (C) Kirana (D) Agra
062. , a national Kuchipudi and Bharatnatyam dancer has received the French Palme

Dar, the highest civilian award of France.

(A) Shovana Narayan (B) Mallika Sarabhai

(C) Rukmani Devi Arundale (D) Sonal Mansingh
063. Which of the following organization awards Ranjit Ram Gold Medal ?

(A) Guijarat Vidhyapith (B) Gujarat Sahitya Academy

(C) Gujarat Sahitya Sabha (D) Gujarat Sahitya Parishad
064. Which educational Institution is having Adivasi Museum in Gujarat ?

(A) Gujarat University (B) Saurashtra University

(C) Govindguru University (D) Guijarat Vidyapith
065. In old Gujarati Theatre, whose dramas were known as ‘Shikhamanio’ ?

(A) Nrusinh Vibhakar (B) Phoolchand Shah

(C) Manishankar Bhatt (D) Dahyabhai Dholshaji
066. ‘Pithoro’ is the supreme god of

(A) Mina (B) Garasia (C) Rathwa (D) Dhodia
067. ‘Satipati Sampradaya’ is a Tribal community of

(A) Himachal Pradesh (B) Gujarat (C) Karnataka (D) Odissa
068. Where is the socio-culturally famous Adivasi ‘GOL-GADHEDA'’ fair celebrated ?

(A) Dang District (B) Dahod District

(C) Valsad District (D) Panchmahal District
069. Give the name of the poet of this line — ‘Ya Hom Karine Pado Fateh Chhe Aage’.

(A) Nanalal (B) Umashankar Joshi

(C) Zaverchand Meghani (D) Narmad

070. Forwhomitis said in Medieval Guijarati Literature that nobody can compete with him regarding
the configuration of ‘Rasa’ ?

(A) Nakar (B) Dayaram (C) Bhalan (D) Premanand
071. Who is known as ‘Dharatina Chitrakar ?

(A) Khodidas Parmar (B) Chhaganbhai Jadhav

(C) Vasudeo Smart (D) Kantibhai Parmar
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072. HRieus 58 s uTun-u 8di ?
(A) s @5 (B) 1421 Ml5d
(C) uaeu (D) us¥
073. Aol siavll’ - dvs 5o 6 ?
(A) Bawllousd (B) Audlons
(C) [Zwauous (D) uuensd
074. Qv deuet v ¢l USASIR 512 6 ?
(A) |y AU (B) [y #i€l
(C) suyw oudl (D) QUM 8152
075. flai-u U4l sy AsE Wy el ?
(A) UYL, - UL el A SRAAL
(B) 2igopd ol - trciviri cuslisia sueu
(C) gWRdd - [Awy-l Guins
(D) e - gRUA Reul
076. wgl -1 - wel - 1l we A D2 2uden Qsedinidl 10 st yie s,
el -1 el -l
1) adL Hdlas a) Ui ddud 8l gaq & 2uey
2) yd b) oid 2 wdls=y, udlszu
3) el wuAH c) s »s didl suy wulau
4) HigHg 23] d) 48,48 eid siufdau
Codes :
1 2 3 4
(A) d c a b
(B) d b a o
(C) d a c b
(D) d o b a
077. wEl -1 4 Wwel - 11 8 A A2 2o [Qseqinidl a1 st udg 53,
el -1 el — I
1) AR MU Qs a) Aws2
2) da auad b) euAAR
3) ?.R-Ri& (Buaie cpusidl C) uHLIdLE
4) ou+ aruail d) ™32
Codes :
(A) 1-a, 2-b, 3-d, 4-c (B) 1-c, 2-a, 3-d, 4-b
(C) 1-b, 2-a, 3-c, 4-d (D) 1-d, 2-b, 3-c, 4-a
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072.

073.

074.

075.

076.

077.

Meerabai belongs to which Bhakti Tradition ?
(A) Navadhabhakti (B) Madhurabhakti
(C) Panchasakha (D) Sahaj
Who is the author of ‘Sitajini Kanchali’ ?
(A) Diwalibai (B) Gauribai
(C) Krishnabai (D) Radhabai
Who is the dramatist of ‘Pilu Gulab Ane Hun’ ?
(A) Madhu Ray (B) Chinu Modi
(C) Hasmukh Baradi (D) Labshankar Thakar
Which of the following pair is not correct ?
(A) Samudragupta — Defeated nine Kings of Aryavartha
(B) Chandragupta Il — Defeated Wahaliks of Balkh
(C) Kumargupta — Worshipper of Vishnu
(D) Skandagupta — Defeated the Hunas
Match List — | with List — Il and select the correct answer from the options given below :
List -1 List—1I
1) Lata Mangeshkar a) Man tadpat Hari Darshanko Aaj
2) Mannade b) Bole re Papihara, Papihara
3) Vani Jayram c) Zanak Zanak Tori Baje Payaliya
4) Mohammed Rafi d) Kuhu, Kuhu Bole Koyaliya
Codes :
1 2 3 4
(A) d c a b
(B) d b a C
(C) d a c b
(D) d c b a
Match List — | with List — Il and select the correct answer from the options given below :
List—1 List-1I
1) Aparao Bholanath Library a) Rajkot
2) Lang Library b) Bhavnagar
3) Raichand Deepchand Library ¢) Ahmedabad
4) Barton Library d) Bharuch
Codes :
(A) 1-a, 2-b, 3-d, 4-c (B) 1-c, 2-a, 3-d, 4-b
(C) 1-b, 2-a, 3-c, 4-d (D) 1-d, 2-b, 3-c, 4-a
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078. Wil -1 < wel -1l e Al A2 2uien [QAseqisis w20 st yrie s2.
el -1 el - I
1) 22 a) Ydl eiiell
2) vy b) yzell sl
3) vy c) Al vilell
4) vyl d) 231 eilell
Codes :
1 2 3 4
(A)c b d a
B)c a d b
(C)c d a b
(D)ec a b d
079. Wil -1 4 wel - 11 2 A A 2uten [Qseuini w12l st uie 520,
el -1 STRAR ||
1) dgagH uddl a) AR bl
2) qlas [aeus b) paeudl
3) W Geuun c) Peanfm
4) gqudIM d) aldugrsals
Codes :
1 2 3 4
(A) b d c a
(B) b c d a
(C) b a d c
(D) b d a c
080. el -1 4wl -1 wd A QA 2udan [QAseinizl Al i, uris s,
Qel -1 el 1l
1) fus a) wfyellus uzs sl
2) wiell b) gall \ues Ay
3) AugIUE c) agl-[Aory uzs Haoll
4) Yd d) ool A a2
Codes :
1 2 3 4
(A) d c a b
(B)d a b c
(C)d b c a
(D) d ¢ b a
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078. Match List — | with List — Il and select the correct answer from the options given below :

List -1
1) Atane
2) Vakh
3) Buhalu
4) Poyro

Codes :
1

N N S N
O 0O O
o O TN

T o0 O 0 W

A
B
C
D

A~ N~ o~

Cc a

T T 9 s

d

List-1I
a) Surati Dialect
b) Pattani Dialect
c) Saurashtri Dialect
d) Charotari Dialect

079. Match List — | with List — Il and select the correct answer from the options given below :

List -1

1) Chandravadan Mehta
2) Nrusinh Vibhakar

3) Ranchhodbhai Udayram

4) Dalpatram

Codes :
1

O O O

A
B
C

O T T

(A)
(B)
(C)
D)b d

O 0O 0O W

a

O 0 9 o

List -1l
a) Abajonan Bandhan
b) Aaggadi
¢) Mithyabhiman
d) Lalithadukh Darshak

080. Match List — | with List — Il and select the correct answer from the options given below :

List—1
1) Mumbai
2) Morbi
3) Ahmedabad
4) Surat

Codes :
1

A) d

) d

) d

D) d

o)

Q
O T ON
o0 T o W

(
(
(
(

O O O T H

List -1l
a) Aryasubodhak Natak Mandali
b) Deshi Natak Samaj
c) Laxmi-Vijay Natak Mandali
d) Bombay Green Theatre
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081. wWEl- 1 d wel -1 208 Ad 02 2uden [QAseainizd Al g e $20.

ael -1 ST |

1) [yl a) Sen 2ureL HEdl
2) g b) Ya ™z
3) [aopu bugela c) (g el
4) siedldl AuHl d) 2gdlr Aasl
Codes :

1 2 3 4
(A) b ¢ a d
(B) b a d c
(C)b d c a
(D)b d a c

082. wEl-1 dwdl-1 28 A0l 02 2uten [Qseainiddl w10 oaie ude 5.

Qe -1 OTEA R |

1) uaty a) dopud [den ueu
2) §HR b) oo S visteHl
3) aseyle c) Aaud WS ulRue
4) sfg usia d) $HIR 22
Codes :

1 2 3 4
(A) ¢ a d b
(B) c b a d
(C) c d b a
(D) c a b d

083. dleut AASIAU Ui 20dg ¢ ?
(A) Axsi2 (B) asiex
(C) wirvieR (D) w2wl

084. i~ Qe aial 214 A2 vuden [Aseul Wl il i uais s,
1) QSIS GeuAn W93 2unellens’ dls oelld 69,

2) ‘@zl [Qoru $IHL YU AL UGU WUSISELA AL s U AsAMUR a5 vard-uu 8.
(A) 1 R 214 2w & (B) 1 2 26iq i &
(C) 1w 206idvlei 8 (D) 1wl w2 0 &
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081. Match List — | with List — Il and select the correct answer from the options given below :

List -1 List -1l

1) Timirpanthi a) lla Arab Mehata
2) Vaad b) Dhruv Bhatt
3) Vijay Bahubali ¢) Chinu Modi
4) Badlatan Sarnama d) Raghuvir Chaudhari
Codes :

1 2 3 4
(A) b ¢ a d
B)b a d c
Cb d c a
(Db d a c

082. Match List — | with List — || and select the correct answer from the options given below :

List -1 List -1l

1) Parab a) Gujarat Vidhya Sabha
2) Kumar b) Gujarat Sahitya Academy
3) Shabda Shrushti c) Gujarat Sahitya Parishad
4) Buddhiprakash d) Kumar Trust
Codes :

1 2 3 4
(A) ¢ a d b
(B) c b a d
(C) c d b a
(D) c a b d

083. Where is Watson Museum situated ?

(A) Rajkot (B) Vadodara
(C) Porbandar (D) Patan

084. Read both sentences and select the correct answer from the options given below :
1) Ranchhodbhai Udayram is known as “Ranchhod Amalikhaoo”
2) A member of “Laxmi Vijay Drama Group” Ranchhoddas is famous as the Shakespeare
of Gujarati Drama.
(A) 1isright and 2 is wrong (B) 1 and 2 are right
(C) 1 and 2 are wrong (D) 1is wrong and 2 is right
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085. wigl - T4 weél - I 8 A D3 2uten Rsedinidll il gaie ue sA.

el -1 QL - I
1) ellalR=su a) 2AY
2) R b) aidldcx
3) widla c) [ Aa
4) sizy yldsan d) ustwel
Codes :

1 2 3 4
(A) d c b a
(B) d b c a
(C) d a c b
(D) d b a c
086. el - I 4 Wel - IT d A N 2ien [Qseulnia i s vig $3l.

el -1 el -1l
1) 4€l 3 dlu a) ofayaH Bwdl
2) wR:adlaig b) ugy
3) yuld c) dlgua 21002
4) ANaixld d) dl. 2iu. wids
Codes :

1 2 3 4

(A) b d c a
(B) b a c d
(C) b c a d
(D) b a d c

087. wigl - 14 wel - I g A D2 2uden Rseniuidd 200 s e s3.

el -1 el — I

1) solla a) Y-t e (ARl oot Ase 2 A

2) A3 -iirs b) 4R el B4 dluret, A2 -1 515

3) elg e c) & vaR U3, ud Al UlRd i

4) =i d) ifQald (R Gun [R29y21 d uope Dy
Codes :

1 2 3 4

(A)c b d a
B)c b a d
(C)c d a b
(D) c a b d
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085. Match List — | with List — Il and select the correct answer from the options given below :

List -1 List -1l

1) Wall painting a) Natraj
2) Pichhavai b) Vasant Vilas
3) Pothichitra c) Chitra Seva
4) Metal Sculpture d) Padmapani
Codes

1 2 3 4
(A) d c b a
(B) d b c a
(C) d a c b
(D) d b a c

086. Match List — | with List — Il and select the correct answer from the options given below :

List—1 List -1l

1) Nadi Ke Dwip a) Govardhanram Tripathi
2) Saraswatichandra b) Agyeya
3) Yayati c) Rabindranath Tagore
4) Geetanjali d) V. S. Khandekar

Codes :

1 2 3 4

(A) b d c a

(B) b a c d
(C) b c a d
(D) b a d c

087. Match List — | with List — Il and select the correct answer from the options given below :
List -1 List-1I

1) Kabir a) Puran Brahma Vicharie Jab Sakal Atma ek
2) Guru Nanak b) Mere To Giridhar Gopal, Dusro Naa Koi

3) Dadu Dayal c) Dhai Akshar Premke Padhe So Pandit Hoye
4) Meera d) Avigati Nirmaili Upaje Niragun Te Saragun Thia
Codes :

1 2 3 4

(A)c b d a
B)c b a d
(C)ec d a b
(D) c a b d
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088.

089.

090.

091.

Al - 1 A WEl - 11 d Ad A3 suden Rsediwie il gaiet ude s2U.
el -1 el -1l
1) Raule a) ug
2) MAR A b) Rtz
3) g Hddl C) dnen
4) e x1edluun d) yig-dlau
Codes :
1 2 3 4
(A) d b a C
(B) d c b a
(C) d a b c
(D) d b c a
gl - 12 el - 11 208 A8 03 vuden Rsedinis el oraiet e 43U
Qel -1 el - I
1) et a) dwdia el
2) aald b) ordal GlduUdL
3) slaals c) Hl3 udlw
4) qa-ld-AHul d) €lus €isll
Codes :
1 2 3 4
(A) a d c b
(B) a c b d
(C)a b c d
(D) a d b c

SAaL-L WeRsi a3 SR 2ineua 8 ?

(A) aNsa- MaadRise (Bhagvatsinhji of Gondal)

(B) sz a8 (Lakhadhiraj of Rajkot)

(C) qaioz-i 2elBraRise (Ranjeetsinhji of Navanagar)
(D) wizefl-n arag-1l (Waghii-1l of Morbi)

atel - 1A wel - 11 a8 oAd 0 suden [Qseqinial 2=l e uzie s
el - | el -1l

1) sudls Al a) iR
2) oilg Rrasan b) sioun
3) sansidl Rasa C) nuga
4) vzlru Rasea d) uigmea
Codes :

1 2 3 4
(A) b a o d
(B) b c d a
(C) b d c a
(D) b a d c
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088. Match List — | with List — Il and select the correct answer from the options given below :

List -1 List -1

1) Vishvamohan a) Sarod
2) Zakir Hussain b) Sitar
3) Manju Mehta c) Tabla
4) Aman Ali Khan d) Mohan Veena
Codes :

1 2 3 4
(A) d b a c
(B) d c b a
(C) d a b c
(D) d b c a

089. Match List — | with List — Il and select the correct answer from the options given below :
List—1 List -1l

1) Parab a) Yogesh Joshi
2) Tathapi b) Jayesh Bhoayata
3) Kavilok ¢) Dhiru Parikh
4) Navneet-Samarpan d) Dipak Doshi
Codes :

1 2 3 4
(A) a d c b
(B)a ¢ b d
(C)a b c d
(D)a d b c

090. Who was called Shah Jahan of Kathiavar ?
A) Bhagvatsinhji of Gondal

B) Lakhadhiraj of Rajkot

C) Ranjeetsinhji of Navanagar

D) Waghiji-Il of Morbi

091. Match List — | with List — Il and select the correct answer from the options given below :

(
(
(
(

List—1 List-1I

1) Batik Style a) Orissa
2) Gonda Painting b) Bengal
3) Kalamkari Painting c¢) Madhya Pradesh
4) Patchitra Painting d) Andhra Pradesh
Codes :

1 2 3 4
(A) b a c d
(B) b c d a
(C) b d c a
(D) b a d c
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092.

093.

094.

095.

096.

097.

098.

099.

100.

101.

AEL -1 A wel - 11202 A N 2uien [Qsedingel el et uzie $30.

il - | gl - I

1) equdun a) gRugHRl
2) «oflvgi wisdla b) ™2+ iy
3) a4 Y C) A
4) walg d) qall
Codes :

1 2 3 4
(A) d b a c
(B) d c a b
(C) d a b c
(D) d c b a
el -1 A gl -1 8 A DA 2uden [Rsediniel 2l wauey uie 530,

gl =1 agl — 1l

1) I HISHHE 2m a) oy 3l
2) [iigy uaeis b) dssi
3) aieialsR 6152 c) a1y
4) ¢da g d) ol wmd-l vil€l w812
Codes :

1 2 3 4
(A)d ¢ b a
B)d a b c
(C)d b ¢ a
(D)d a ¢ b
D2lrumiddl 5 saaust d-i aglasi we oslldl ¢ ?
(A) 5yt (B) uwwugl (C) ndssuil (D) H$IGURA
el S18 vy €9 ?
(A) o (B) woiiig (C) ®Ra Yl (D) wuda
o’ 9IUSIH AL Gu W 8 ?
(A) $u3 (B) Mawlls (C) 2usial (D) Higet oflonsin
S, 2. A4, BHSIALE -l 2[E252
(A) e sidlu (Charles Correa) (B) 48 $8iet (Louis Kahan (Louis Kahn))
(C) sul3» si=as22 (Hafiz Contractor) (D) 35 a8l (Frank Gehry)
“ogaicll QA" Slol EIRL &cll 2
(A) deun HeUE A (B) GLuA vubiR
(C) ganuea (D) Aul HigHEl
5%9 [Mal2a s8an .
(A) wiplflrwea (B) sruwoud) (C) A (D) werllua
(Qan ved
(A) susLurg Qa (B) ¥les 28l (Silk Screen)
(C) Uy [Rasm (D) 4352 (Woodcut)
Ra-uuid] sl 2000 adell AR duauni W9 ?
(A) aidl (B) g26usl (C) Ui (D) edwicl
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092. Match List — | with List — Il and select the correct answer from the options given below :

093.

List -1
1) Dalpatram
2) Naginda Marfatiya
3) Navalram Pandya
4)

Narmad
Codes :

1 2 3 4
(A) d b a c
(B) d c a b
(C) d a b c
(D) d c b a

List-1I
a) Krishna Kumari
b) Bhatnu Bhopalu
c) Gulab
d) Laxmi

Match List — | with List — Il and select the correct answer from the options given below :

List -1
1) Gulam Mohammad Shaikh
2) Sitanshu Yashschandra
3) Labshankar Thaker
4) Harish Minashru

List -1l
a) Banaras dairy
b) Tadako
c) Jatayu
d) Pittalani Chamdino Bodo Rankar

Codes :
1 2 3 4

(A)d ¢ b a

B)d a b c

(C)d b c a

(D)d a ¢ b
094. Which of the following Manuscript is famous for its miniature paintings ?

(A) Kalpasutra (B) Ramayana (C) Jataka Stories (D) Mahabharata
095. Who wrote Natya Shastra ?

(A) Sarangdev (B) Abobal (C) Bharatmuni (D) Matang
096. ‘Ajarakh’ block printing belongs to

(A) Textile (B) Ceramic (C) Terracotta (D) Metal Casting
097. Architect of IM Ahmedabad is

(A) Charles Correa (B) Louis Kahan (Louis Kahn)

(C) Hafiz Contractor (D) Frank Gehry
098. ‘Janata Watch’ is painted by

(A) Gulam Mohammed Sheikh (B) Bhupen Khakhar

(C) Jeram Patel (D) Naasarin Mohammedi
099. Kutch Mural is known as

(A) Asurnisirpal (B) Kamangari (C) Menes (D) Asurbanipal
100. Vitanchitra means

(A) Cloth painting (B) Silk screen

(C) Ceiling Painting (D) Woodcut
101. Which of the following ragas is sung early in the morning ?

(A) Todi (B) Darbari (C) Malhar (D) Bhopali
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102.

103.

104.

105.

106.

107.

108.

109.

110.

111,

atiRd-Dl rguld-l eellui £35 e U Haf YU 524 69 ?

(A) 4844 (B) 2414 (C) 908 (D) 708
sinndeanidll ersiz Nsofl a-ur Heal o 6.

(A) ulBa (B) Rwouyr (C) walza (D) Gi(@xun
Arzet 633l (s S-ddldlan (C.B.1.) DA A4 sut doneru dsn sl 53 9 7

(A) as +{l (B) fLajuadl,
(C) 3lade siznaa (D) w2aida, Urai ivs uodls dMauy
AL Al gL usudla 525804 Geaiua Hir Avaui 2udd €lu, A R Al
Yed Yl 94 d Anaui 89

(A) 6 H[R- (B) 1ax (C) 3ulR- (D) 24[8-u
weudla ol ory2ulel) RaAwaz W igcna- Menunt s2-U2 w312 6121 Rysd add AR
U S8 Sl ?

(A) 252 2n0d (B) 3 %24l
(C) suyw e (D) ML 4l umAu

WARS (YHIRL) HRL- 2005 stad DA V4 g sriet scumi 2 ?

(A) [g-aRsc (Dual Citizenship) (B) b{%ﬁ&[ AR s (Multiple Citizenship)
(C) (a3l -ualRscq (Overseas Citizenship) (D) Guz-AL U4 518 1)

s Bl 5 s cuRd-u egula ulardl “dl2 ) aw-d (Power of Veto) Gualoy suf d
58 ouvid el ?

(A) 4R+ $13 [Bret (The Hindu Code Bill)

(B) PEPSU 2iyisllian [Biet (PEPSU Appropriation Bill)

(C) 4 S=dlunt uize 28lu [ (AR=2) (The Indian Post Office Bill) (Amendment)

(D) 4 3198 uilsean B (The Dowry Prohibition Bill)

PR

A U4 509 082 59 3, “uz-l ulls 21 wnilys scu DRz Al xeiad wa
], e WA Sidl ASA”,

(A) 8L i) (B) e 183

(C) iti3sR - (D) Sl aie)

o U8l AR xR Preen sdse?

(A) [Fecn danuauidl o1z v Afdxl
(B) [Brect vuad-l Hd A U121 Ued Sl ASA

(C) [Pyectt daiud-l Hd 24aAll 855 HAAAL G Siall AS
(D) [ean yanadriy xA8 slay Adu

Prevention of Money Laundering Act, 2002 +l AHAUNA cusigidl -uu H-unausu
A2 W4 s QoD 8 ?

(A) eau (waf) Rouat (B) ua (wdy4) [Acuol
(C) [axdla (-ususla) Al [Qeu (D) wlls ool (Aeuot
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102. What is the vote value of each Parliament member in the president elections of India ?

(A) 4844 (B) 2414 (C) 908 (D) 708
103. The latest country to quit the Commonwealth is
(A) Gambia (B) Singapore (C) Maldives (D) Belgium
104. Under which of the following ministry does the Central Bureau of Investigation (C.B.l.) functions ?
(A) Home Affairs (B) P.M.O.
(C) Cabinet Secretariat (D) Personnel, Pensions and Public grievances

105. Unless the proclamation of Financial emergency is approved by the houses of
Parliament it ceases to operate at the expiration of
(A) 6 months (B) 1 year (C) 3 months (D) 2 months

106. Who was the Chairman of a government appointed committee which recommended to
shift to a January to December financial year ?

(A) Shankar Acharya (B) Arun Jaitely
(C) Hasmukh Adiya (D) P. V. Rajaraman
107. Which of the following is introduced by the Citizenship (Amendment) Act, 2005 ?
(A) Dual Citizenship (B) Multiple Citizenship
(C) Overseas Citizenship (D) None of the above

108. The only instance when the president of India exercised his power of veto related to
(A) The Hindu Code Bill
(B) PEPSU Appropriation Bill
(C) The Indian Post Office Bill (Amendment)
(D) The Dowry Prohibition Bill

109. Who among the following declared that “The responsibility for the economic and social
welfare policies of the nation should lie with Parliament and not with the courts” ?
(A) Mahatma Gandhi (B) Jawahar Lal Nehru
(C) Ambedkar (D) Indira Gandhi

110. According to the Balwantrai Mehata Committee, the district collector should be :
(A) Kept out of District Panchayat
(B) A non voting member of the District Panchayat
(C) A member of District Panchayat with right to vote
(D) The Chairman of District Panchayat

111. The execution of Prevention of Money Laundering Act, 2002 is the responsibility of
which of the following department of the ministry of Finance ?
(A) Department of Expenditure (B) Department of Revenue
(C) Department of Financial Services (D) Department of Economic affairs
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

A-u WA 54 [Qeuqt e Al uSeyna (National Green Tribunal) peid 22 el ?
(A) a86ynd [Badl siddlla 28Ry, 1908 S50 sifardld sufEnq 289
(B) Redl BuRid, 2166ya-ll lesi-n AR AN (WA, Y, SAsTL A A~ 89l

(C) NGT 21 24-~ufas 2i2e 8
(D) NGT =il 2enusit dad ol aifoynia 2452, 2010 2irad, sacui 2udl

Al WS suordid alsneu-dl 2[Rs seiadl suui asal.
1) s (Zero Hour)

2) wsiailsin (Question Hour)

3) s+l seiy (Agenda of the House)

(A) 1,2,3 (B) 2, 3,1 (C) 2,1,3 (D) 1,3,2
s oiRella YL 2ARAA 6 3 ddl ay Aol w2 ermad Rusis s2d asy oi-ud ?
(A) yizwl oiwrella yauR AAEMHuH (B) 92l vinzelly e ERUH
(C) sl situellu Yt xAMRun (D) 2usul situelly gt 2ifERuu

A2t WAL il GuRaHl ucli2 161l YA ARSIRAAMT AridaL $36L 6 ?

(A) MU ARIR 2A AU 5 ay, %Al el [@Qael

(B) 2iue- sidual 28 a1 Al (Qtueudl eellziu @cel

(C) GuRd U512 A Sraafiid e aAeu @ael

(D) o SrsaulAd ueell c2Qatt QAcuel

o{81Rail 56 442 avu AAHE AR QAR adlaz :o{v‘t (R, -l v ot i
andl e ?

(A) Al xigyfa (B) el xqu (C) wigfl vgya (D) -all mgyl

sl aseldl senrll yaieoll we-l uieoll AlRld-n st aeu ) ?

(A) agmeun (B) a4l

(C) cuRdrt yuu ~uuy(d (D) eisucur [aiqusi Aa

e 2 Azl [Qaracud is w8 2ol Aloran 2idid yaq s2-uR Aug @2-fa
wE S Sel ?

(A) el wrile Aell (B) . wAx. A, sl A A

(C) Ml Rgwiry (D) 2ini. Agionsy uug

el Jad viglual uiual 2016 Yol uaAld sdl. gl 3ad vigiruad uurl sud)
azadedl?

(A) 1853 (B) 1909 (C) 1921 (D) 1951

A W4 53y [Qen ﬁauem‘t 2[8512,2009 tierd 0 4 ?
(A) WRURS AN 2 HilAs 5713914 uR Mldsiy
(B) 32 gl Uz Ay

(C) andlu 211 Aogpu A 512 URNEH) 22Ul oS
(D) Gua-ud4l i )

‘Asue’ AE AL NAHAUR St GIRL MU ANHE vl ?
A) sRY sRelc 2. st (B) wlaul. ofl. A 2342

(C) -uaws (D) . A, [Rad
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112.

113.

114,

115.

116.

117.

118.

119.

120.

121.

Which of the following statement is incorrect about National Green Tribunal ?

(A) The tribunal shall be bound by the procedure laid down under the Code of
Civil Procedure, 1908

(B) In addition to Delhi, Bhopal, Pune, Kolkata and Chennai shall be the other four places of the
sitting of the tribunal

(C) NGT is Quasi - Judicial body

(D) NGT was established through National Green Tribunal Act, 2010

Arrange the following items as per the daily schedule of the Lok Sabha Proceedings ?
1) Zero Hour

2) Question Hour
3) Agenda of the House

(A) 1,2,3 (B) 2,3,1 (C) 2,1,8 (D) 1,3,2

Which Constitutional amendment Act made it possible to appoint governor for two or
more states ?

(A) 5" Constitutional Amendment Act (B) 6! Constitutional Amendment Act
(C) 7th Constitutional Amendment Act (D) 8th Constitutional Amendment Act

Which of the following is included in the original jurisdiction of the Supreme Court of India ?
Disputes between

(A) Government of India and one or more states

(B) Elections to either house of Parliament or legislatures of the state

(C) Government of India and Union territory

(D) Two union territories

Which schedule of the Constitution deals with special provisions for administration and
control of schedule areas in several states ?
(A) Third Schedule  (B) Tenth Schedule (C) Fifth Schedule (D) Ninth Schedule

Who is not a member of the selection committee for the selection of central vigilance
commission ?

(A) Prime Minister (B) Minister of Home affairs

(C) Chief Justice of India (D) Leader of opposition of Lok Sabah

Who was the Chairman of the standing committee of Parliament, which suggested to
hold Parliament and state assemble elections simultaneously ?

(A) Murali Manohar Joshi (B) E. M. S. Natchiappana

(C) P.Chidambaram (D) N. Chandrababu Naidu

The separate railway budget practice was prevalent till 2016, since when the practice of
separate railway budget was started ?

(A) 1853 (B) 1909 (C) 1921 (D) 1951

Which of the following statement is not correct about Right to Education Act, 2009 ?

(A) Prohibits Physical punishment and mental harassment

(B) Prohibits Capitation fees

(C) Provides establishment of national and state advisory council

(D) None of the above

The word ‘Lokpal’ was first coined by
(A) Justice Harilala J. Kania (B) Justice P. B. Gajendra Gadkar
(C) Nath Pai (D) L. M. Singhvi
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122. A% SNY wuLie1l> 211 igirus daudq (Fiscal Responsibilities and Budget Management
- F.R.B.M.) ui gl yaadl afld 8 ?
(A) 2, 3. Ra afR (B) [Brua naq ufld

(C) w2lde wanrm uRR (D) L %. s Al

123, GUReAL 6{HIRRIAL 2442698 1(1) 48 8
(A) V4, GURdAL Alsl, MR 218 deliy ameudd Braineils dsdnas wonds add
A sl viellRdiyds 2isey sul
(B) §{-3u1, »1ald, Hurd Aoliql 248 88
(C) vituet-t U WR s
(D) 2o 51 cualdaq siust aua amindid - wd asd 4l

124. QURAHL €2 g2 AN Adl awid) s1a qardl wareieid) s Hneau-dl © ?

(A) =usu Huau (B) issiauzat v sdsH stal<u {nay
(C) s HAQy (D) Hira A Huay
125, [yecn 2oyt ARUANL 2271 Sl G121 st scuui 20l © ?
(A) 73+ viturefly g 1AMRuY (B) 74w siruzslla 12l xRMAuY
(C) AL 2. grjdil ua AH(d (D) ldaicn u@fd

126, GURAHE AAE A 1A NAACA UM Rrd1z Rsi sfsu 26 5201 WS Meane S8 503 ?
(A) e e R alf | }
(B) 2L, 2108 sUH - dx-il AAeul x2uld ad3-u et
(C) v {iSAll weagdl Sstrt bllon adladl Yuren wuaioy
(D) 3y a3eidl 2uain
127. “clisdl 47 Qs w2 danadl Ao iy Wil afEfda s s ed?

(A) A, Ax. Rad  (B) w5 e (C) 3.l ud (D) 2. d. 3. ua
128. oy Wielafl’” 21 “dat el [QuR S8l sl ?
(A) Raues cruda (B) a35u gi
(C) Wi [&soain (D) [(3reisr sidle
129. “o0d2 A - A SR U511 (Buril 27 d Burvil 455 5241 Sqii-l Gedv 53 6.7 20 [A4in
DRI :
(A) scltg 5. S\dRet (Clarke E. Cochran) (B) alH 31a (Thomas Dye)
(C) sun Wl2d (Guy Peters) (D) €. %, Al (E. F. Malone)
130. ®uRdrl 56 G2 vig1ad “dua deens”l uuid Sleiarelly A8 s34 9 7
(A) [2¢d) G2 2ig1ad (B) $astil G2 iEldd
(C) 2ieitug G2 Aelad (D) Hois G2 ugicd

131, AUA SAHL A5 AvA Al SIUEL WA AH S HS A% WAL 5290 Adl [Bau Rga iRl
sl AUPIE S 7
(A) 27269¢ 41 (B) »14269¢ 42 (C) 2q2e9¢ 43 (D) 22%3¢ 44
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122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

The Committee to suggest changes Fiscal Responsibilities and Budget Management (F.R.B.M.) is
(A) N. K. Singh Committee (B) Bimal Jalan Committee
(C) Arvind Mayaram Committee (D) P. J. Nayak Committee

Article 1(1) of Indian Constitution says

(A) We the people of India having solemnly resolved to constitute India into a Sovereign, Socialist,
Secular, Democratic, republic

(B) India, that is Bharat, Shall be a union of states

(C) Citizenship at the commencement of the Constitution

(D) The state shall not deny to any person equality before the law

Which Ministry is responsible for undertaking census in India every ten years ?

(A) Finance Ministry (B) Statistics and Programme Implementation
(C) Home Affairs (D) Human Resources Development

District planning Committees have been constituted as mandated by

(A) 73" Constitutional Amendment Act (B) 74th Constitutional Amendment Act

(C) C. H. Hanumanth Rao Committee (D) Dantewala Committee

Who has recommended abolishing the M.P. and M.L.A. local area development programme
in India ?

(A) Public Accounts Committee of the Parliament

(B) A.P.J.Abdul Kalam in his presidential address to the Parliament

(C) 2nd Administrative Reforms Commission headed by Veerappa Moily

(D) Central Vigilance Commission

Who was the Chairman of the committee on “Revitalisation of Panchayati Raj Institutions
for democracy and Development” ?

(A) L. M. Singhvi (B) N. K. P. Salve (C) K. C. Pant (D) G. V. K. Rao
The Concept of ‘Mega Policy’ and ‘Meta Policy’ was given by

(A) Herald Laswel (B) Yehezkel Dror

(C) Charles Lindblom (D) Christopher Colit

“The term Public Policy always refers to the actions of government and the intentions that
determine those actions” who made this statement ?
(A) Clarke E. Cochran (B) Thomas Dye (C) Guy Peters (D) E.F. Malone

Which high court in India has declared the practice of “Triple Talag” as unconstitutional ?
(A) Delhi High Court (B) Calcutta High Court
(C) Allahabad High Court (D) Mumbai High Court

Which Article of the Constitution directs the state to Endeavour secure uniform Civil Code
throughout the country ?

(A) Article 41 (B) Article 42 (C) Article 43 (D) Article 44
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132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

142,

Atda @RS 13n, “aurauAl Sr2Aand q ag Has s4 9 ?
(A) A3, g1t (B) el i)
(C) wHal, Razndrs (D) dala-4, Bndss
DA U 56 Brausidl Azt a5 WRA M52 ARMUH-AL 221 5201 W2 Axondaui
ygrardl oy modl el ? |
(A) dlsuil (B) Nuca yRun 12 Adla dledln
(C) ugR (B alsa s (MK.S.S.) (D) el s12 3UBEs Asind
2Aysd g war Adedl grral Rugls si-u il sanmi wud © ?
(A) [a 6l (B) 224ellu 516=:0la
(C) syl s16-=la (D) AWML AHL
Ad-u YA 59 20 [Qu olsn A vasi as wda 6?7
(A) Rd - 3.2, yRHwy A[ (B) urd - seist 2l
(C) cuRd - wa duiR A[E (D) cuRd - w3 gl well-l 204
@RAr st 21 Yl welds [Qae sl wd 6 ?
(A) eiideuga (B) aycirt (C) Awe (D) ¥R
1971 [RAadl 211 A5+ I aui) 248 i)l azd ¢d) ?
(A) GURd - Y AU, (B) curd - uildud ylRun
(C) curd - Al (D) qud - S
w2l 2015 ui ysda bigdds (Multi-purpose) i wedl-Hisa WesiH-l PRAGATI (Pro Active
Governance and Timely Implementation) 8, g ¢ ?
(A) ey WAl sRuel g sl 21 2wl swRv 214 wxflan sl
(B) cunfliia asl4l [Rawe 12 Wiis 24 251 Yl wisal
(C) um euul slaey [Asin e-u uaRdl Asan 59
(D) Guarll dHiH
il o et Ao 4 4 O ?
(A) gL vl gL 2enldiui (B) SHIRL vl G2y [daay
(C) A1 vt ¢y QL (D) ot st vt Aot 51 [As
HalAeRld siad s 20010 aedl ovRial- 2012 sl 20ey 8. Halderiq sd gl
AHis-l 227 52U UL SRUML 2098 ?
(A) 2021yl uau adl 2wLdsl (B) 2023 udll uau axdl owiasl
(C) 2025ygl-l uan azdl awdsl (D) 2026 utSll nan adl ol
@R 61 DAL UEL suL H9EL Ae i %L 221 adlad] 2Abibl susid-u S 7
(A) x1q23¢ - 245 - 255 (B) A€ - 256 - 263
(C) 14283¢ - 264 -268A (D) 3289t - 269 - 279
A% €2 afl Asta-d %32 Yot udeit us st seunpiell Y wsani vud ¢ ?
(A) uld (B) e
(C) ~eu AL (D) xdlu [asiu s16(-aa
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132.

133.

134.

135.

136.

137.

138.

139.

140.

141,

142.

Which is the headquarters of the registered voluntary association “Transparency
International” ?

(A) Paris, France (B) Berlin, Germany

(C) Geneva, Switzerland (D) Helsinki, Finland

Which of the following NGO had played a major role in persuading government to enact the
RTI Act ?

(A) Lok Satta (B) People’s union for Civil Liberties

(C) Mazdoor Kisan Shakti Sangthan (MKSS) (D) Association for Democratic Reforms

The Secretary General of the United Nations Organization is appointed by the

(A) World Bank (B) Trusteeship Council

(C) Security Council (D) General Assembly

Which one of the following pact involves the world bank as a third party ?

(A) Indo-US Nuclear Deal (B) Indo-Sri Lanka Treaty

(C) Indo-Nepal Trade Pact (D) Indo-Pak River water agreement
India has kalapani and Susta territorial dispute with

(A) Bangladesh (B) Bhutan (C) Nepal (D) Myanmar
The 1971 Twenty Years Treaty of friendship and corporation was between

(A) India-USA (B) India- Soviet Union

(C) India-China (D) India- Israel

The Multi Purpose and Multi model platform PRAGATI (Pro Active Governance and Timely
Implementation) launched in March 2015 aims to

(A) Address common man’s grievances and simultaneously monitoring and reviewing
(B) Provide encouragement and support to girl child for technical education

(C) Coordinate all skill development efforts across the country

(D) All the above

What is the tagline of “Pradhan Mantri Jan Dhan Yojana” ?
(A) Hamara Khatha Hamara Swabhiman (B) Hamara Khatha Bhagya Vidhata
(C) Mera Khata Bhagya Vidhata (D) Sabka Khata Sabka Vikas

The present delimitation of constituencies has been done on the basis of 2001 Census, the
next delimitation of constituencies will be constituted on the basis of

Census.
(A) First Census after 2021 (B) First Census after 2023
(C) First Census after 2025 (D) First Census after 2026

Which of the following Articles of the Constitution of India deals with the administrative
relations between the union and states ?

(A) Articles 245-255 (B) Article 256-263

(C) Article 264- 268 A (D) Articles 269-279

Grant in Aids are provided every year to the states in need of assistance as recommended
by the

(A) President (B) Parliament

(C) Finance Commission (D) National Development Council
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143.

144.

145.

146.

147.

148.

149.

Al AidRAY g1 suerd, DA WA sa Qe i el ?
1) —uudlai-l g4 2iva 15 9
2) yuu ~endlel “wSH oo’ ddld 2oy 0
3) ~undlel 6 bl Yed W2 Duani 2ud O
4) vglddd aeuusd [dae ARuuiel 3 aeaid waRRcad uarel 200 8
(A) 851 (B) 8541214 2 (C) 51 2 A 3 (D) $5d 1 A 4
A AAEHAA [A36 HIRA ARSRAU SuH Ul vl AHuadl Ysigl 56 euodd @l
Sl ?
(A) 5 U1 E¥$1N A4 2idi-u gl
(B) 3w usR- tunmo) 2idi-1 [Agal
(C) 5 AR HiradUIR vidi-u A
(D) s a5 {8551 {511 [Agal
dore sfad siz wS-IAAD 252, 1992 60 S ABIR 1 AAE A sRaq sk
WAL (NCM) g1t aguld ayeidl ddl3 18R saanui uda &9 s aygrial 2inv.

(A) YW, [Badl, ov, tlig, 22l 29 Q)
(B) YR, [Birdl, ollw, olig, Rl 244 eae1
(C) HlRaw, [z, dlw, -], 61816 244 B
(D) ylRuw, B, sllw, vllg, ol 24 ¥+

3 [Aeua Hznau dsn 1A U4 s [Qeudi & ?

i) Arlial sl [Qendt i) updi-l Qe

iii) ¥y, 2 S22 suerdinl [[deua iv) Al Aennl [dendt
(A) i i A iii (B) i, iii, 24 iv (C) iii ¥R iv (D) i ,ii, iii AR iv
[ary, oo wuzgdl (Indus Water Treaty) 8561 GiRd AEIHL UR AANAEL 551l adlaz
29,

1. Rrum 2. 2o 3. B

4. [Ry 5. UALY 6. BAH

(A) $5d1, 2 %1 3 (B) $5d1,3 %4 4 (C) 852,345 (D) 541,26

The Indian Ocean Rim Association (.0.R.A.) it A2 84 su Sqil e ?
1) cuxdly HSIROR A4 (el auly s [ﬁsm
2) iRl s Yran 2 @R AR s
3) durR AN
4) duIR vy
(A) &5d1 294 2 (B) $5d 1% 3 (C) $5d2u4 3 (D) 85d 1,204 3

Dl [Qaudl il 2w [Aseu uaig sal. ' . \
1) 2017 Hi e s-2Au2 ARNSIAA (S.C.0.) Hi MRl YRl A8, tisiall Al ©
2) IR ASEAN Ayl 82U+l wggt ARY @

3) 1945 Hi 2AAAL AY S AR ABL HIRA AeUUS AU WAL A5 Y
(A) 85d 1,2 %1 3 (B) $5d 1342 (C) $5d2 1 3 (D) $5d 131 3
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143. Which of the following statements are incorrect about International Court of Justice ?
1) There are total 15 number of Judges
2) The chief of Judges is known as Prime Judge
3) The Judges are appointed for the period of six years
4) The distribution of Membership of the court allows the representation of
3 members from Asia
(A) Only 1 (B) Only 1 and 2 (C) Only2and3 (D) Only 1 and 4

144. Land mark judgment by Supreme Court of India in the case of Swaraj Abhiyan versus
Union of India was concerned with
(A) Directions to Central Government on Drought Management
(B) Directions to Central Government on Child Labor
(C) Directions to Central Government on Human trafficking
(D) Directions to Central Government on Women Rights

145. Identify the six religious communities as minority communities notified by the National
Commission for Minorities (N.C.M.) set up by the Union Government under the National
Commission for Minorities Act, 1992
(A) Muslims, Christians, Sikhs, Buddhists, Zoroastrians, and Sindhis
(B) Muslims, Christians, Sikhs, Buddhists, Sindhis and Bahais
(C) Muslims, Christians, Sikhs, Sindhis, Bahais and Jains
(D) Muslims, Christians, Sikhs, Buddhists, Zoroastrians and Jains

146. Which of the following are departments under the ministry of Home Affairs ?

i) Department of Official Language ii) Department of States
i) Department of J and K Affairs iv) Department of Border Management
(A) i,ii andiii (B) i, iii, and iv (C) iiiand iv (D) i,ii, iiiand iv
147. Under the Indus Water Treaty, The exclusive rights over the rivers are
governed by India.
1. Chenab 2. Ravi 3. Beas
4. Indus 5. Sutlej 6. Jhelum

(A) 1,2 and 3 only (B) 1,3 and 4 only (C) 2,3and5only (D) 1,2 and 6 only

148. Which of the following are the aims of The Indian Ocean Rim Association (I.0.R.A.) ?
1) Social Development of Indian Ocean Rim Region
2) Enhancing Security and protection from piracy
3) Trade facilitation
4) Trade Deficit
(A) 1 and2only (B) 1and 3 only (C) 2and 3 only (D) 1,2 and 3 only

149. Read the following statement and select the correct option :
1) India is due for becoming full member of Shanghai Co-operation Organization (S.C.O.) in
2017
2) India is full member of ASEAN group of nations
3) India is one of the founding members of United Nations Organization which was
formed in 1945

(A) 1,2and 3 (B) 1 and 2 only (C) 2and 3 only (D) 1 and 3 only
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150. 5l 2 AidAM2Y s1weldl Aetddrit AR Ss0 adl ?
(A) 3221, A2, A, Srdd (B) y. a1, 4.3, A2, s11
(C) u.5., si=, A, wlsdirt (D) si=, AN+, wileciq, AsaRdin

151, s i 6 ude, 7 A A 2 aeulesd. o dniel 21s 8 6 £31 GAsUHE 204 9, i 831

WA A I 1Y Al Acua-n sedl asi ?
R 5 68 o 68 o
W s B) tss ©) Jos D) 35
152. A, B i1 C +l 922 31.1,380 aduciui 2ud 6. o A, Bt C A B2l 254 il d-it 52qi 2454

3L 5, 31 10 24 31 15 9L HoUL Sl dl AHA HOLA 6H 2 1 3 : 4+1L RIITRHI Sld, A4 32d)

s ol 9l ?
(A) 3..285 (B) 3L 305 (C) 3.315 (D) 3.325
153. i uzuzini A 214 Bidla gre 1A 4o o Anadii siel :
ylan
1 2 3 4 5
NI
REICT 8 9 8 10 5
Bidla 10 7 10 10 4
Pidlgl Anda Rl sigas 210 RN dnda el 1 xigsi seanedl ?
(A) 10,8 (B) 8,10.2 (C) 8,8 (D) 8,8.2
154. s wizlas A FRIEND A ‘KTIJMUHR’ a3 @vicimi 2ud 8. dl ‘CANDLE’ 4 58 dld
Qi puas ? '
(A) HDOMSI (B) HCOLSI (C) HCOJSJ (D) HBQLSI

155. 25 2+l dous 200 12z 8. d 69 (B4 / scusl 33U ald 52 8. dl d 2+l o [Bauwmi 9 (3401 /
sl 33U El3dl WA YAIR Sl 21 Sl uHu el ?

(A) 9 A58 (B) 10 A5+ (C) 1135 (D) 12 As~3
156. % @+l 20% b$id di 20 L b% >2¢ 43l ?
(A) a-u2% (B) a+i 4% (C) a-u20% (D) a-u25%

157. 007 B/ scus 30 014 dl d i 9 [lRe wisi wsial 6, o d 834l / saus-ll sy
A4 dl 6 M2 addl udid ©. wou Jed g ed?
(A) 143 (B) 213 (C) 1634l (D) 28(34)

158. o A=t (Bud otmell sci 20 dl -5t A9 2Rl i 8. di yo sl 2siudl seell ¢l ?
2
(A) 665% (B) 100 % (C) 125% (D) 200%

~ d . Y N, A Y . Y ., 3 " N
159. %A SIS AYQSL iY 21A 98 oiiui 1 F2el AL SANL 2 dl A YRS = U 6. dAlL A v

5
X ~ . Ny .. O FUPRPLUE
1326l 2218l s2cuni 2ud dl d 2435 5w 8. Yo uyals 2kl
n = ) 13 (©) 13 (D) GuaL A A Al
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150. The International criminal court lacks jurisdiction over which countries ?

(A) USA, Russia, China, Israel (B) USA, UK, Russia, France

(C) UK, France, China, Pakistan (D) France, China, Pakistan, Afghanistan
151. A basket contains 6 white, 7 red and 2 blue balls. If two balls are drawn simultaneously,

what is the probability that both are of different color ?
2 B 68 " 68 b 7
15 ®) 155 ©) 105 ©®) 15

152. Rs. 1,380 are divided among A, B and C. The shares received by A, B and C were
Rs. 5 less, Rs. 10 less and Rs. 15 less respectively, their shares would be in the ratio of
2 :3:4. What is A’s Share ?

(A) Rs. 285 (B) Rs. 305 (C) Rs. 315 (D) Rs. 325
153. In 5 tests Shirish and Girish scored as following :

(A)

Tests _
1 2 3 4 5
Marks
Shirish 8 9 8 10 5
Girish 10 7 10 10 4

Mode of Girish’s score and median of Shirish’s score respectively are
(A) 10,8 (B) 8,10.2 (C) 8,8 (D) 8,8.2
154. In a certain code language ‘FRIEND’ is coded as ‘KTJMUH’. How can ‘CANDLE’ be written

in that code ?
(A) HDOMSI (B) HCOLSI (C) HCOJSJ (D) HBQLSI

155. Atrainis 200 m long. Itis running at a speed of 69 kmph. How long the train will take to pass
a man who is running at 9 kmph in the same direction as the train ?

(A) 9 seconds (B) 10 seconds (C) 11 seconds (D) 12 seconds
156. 1f 20% of a = b, then % of 20 is same as
(A) 2% of a (B) 4% of a (C) 20% of a (D) 25% of a

157. If Ramesh walks at 7 kmph, he reaches school 9 minutes late. But if he walks at 8 kmph, he
reaches school 6 minutes early. How far is the school ?
(A) 14 kms (B) 21 kms (C) 16 kms (D) 28 kms

158. If selling price doubles, profit triples. What is original profit percentage ?

2
(A) 66 % (B) 100 % (C) 125% (D) 200%

159. If the numerator and the denominator of a fraction are both increased by 1, the fraction

becomes E If both are decreased by 1, it becomes i Find the fraction.
5 9
11

(B) -+ (C) 19 (D) None of the above

8

(A) 14
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L : 12 284 WAL 2o $31 usd +i, 160 ol 162 ~U yaiet 2uul.

ofied, e, aigull, dlal, Yo, Ul 249 e - 2 Aid ol o g SIRHL swidl
oral dUsAUHE 2 €9 (L kA saAd sHUE €I d 238 Aell). e o 247 Ylon i tay
a2l AR o 89, e 2 N kol a2al uoll o el areel) gl drd oucgul sl Ly
A i oy sudl sl Al
160. AU HEAl uell teesell sct decll olscellRA ais ) ?

(A) 5 (B) 8 (C) 13 (D) Gu-u A4 518 Wl

161. o uld b GURid 510l 249 A5 ¢ sy Al 1A GHUHE 21 § il o1 2iselloa-dl oiog-ouogui
¥l udg il isu oo o 3 did ol buogHi A Sid, dny sl 2ls ua sidua
3L UR L Sl dl EL YEL 3241 USIR 2 dnsaell asd vindl ?

(A) 24 (B) 48 (C) 9% (D) BuL U4l i 1l
162. 12 W4l sy [Quir Assuu At 6 ?

(A) Yol taor SiSuRL 215 91U 8,

(B) Aleil by 2 ol tagy sisofloa-dl suog-ousgui 8.

(C) angull taor llen tagr-ll ouogHi 6.

(D) Guz-n sl si6 adl
163. AxA B A viallysd alRawll 9. 62 scudA 10 A-lz Wil ul 8 204 B 10(-le 2ua0 50l 9,

w5 [Rad 612 12 1 00 st oi Bl3u1oti- A6 AU AoLdaHl 204 6 dl A % [BaRi oA B i+

7 : 00 5c1s siiadl Sla dl A sul A1y sldiadl gel ?

(A) Aix+L4.30 (B) i+t 5.00 (C) i+t 5.30 (D) i+t 6.00
164. (15.01° x /730 0l 2uu3 Bud sedl asl ?
(A) 6125 (B) 6075 (C) 6025 (D) 5975

165. 24 donudl doudui 20% Fedl atil saMi »ud 2= d-l usiouSui 20% Fadl uaisl
5UHE AU dl df A50 192 Al A Ay 8. dl Yo dorlug AAsn s2¢ <o ?

(A) 180;&.&«&. (B) 1902134l (C) 2001 AL (D) Gu2u U4 4 <l

166. 5 Al A Ana-nidl 1 Asll-i s 2edn dn AU Al 20d O, dl uial wnes-l
AW, AASU 24, UL AHBAAL AW AAS VAL AU YRR S2ell A9 ?

(A) 1:6 (B) 1:5 (C) 1:1.25 (D) 1:25
167. AABC i, AD = DB#; %ADE | |BC $id ¢4 A ABC 1 @251 40 €14 dl A ADE o &5 524 ¢4l ?
A
D E

B C

(A) 10 (B) 20 (C) 30 (D) 24
168. o 2°7° - 64" = 0 dlu di a -l Bud 32ell g9l ?

(A) 72 (B) 75 (C) 78 (D) 81
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Instructions : Read the following information and answer the questions 160 to 162 :
Seven flags of different Colours — Violet, Indigo, Blue, Green, Yellow, Orange and Red are placed
in a row from left to right, not necessarily in that order. The Indigo flag and the Yellow flag have

four flags between them. The Orange flag is not between the Indigo flag and the Yellow flag. The
Violet flag and the Red flag cannot be next to the Blue flag.

160. What is the total number of possible arrangements of flags as per given information ?

(A) 5 (B) 8 (C) 13 (D) None of the above
161. Inadditions to the seven flags, if the Black flag and the White flag are also to be placed such

that they are adjacent to each other but none of them is next to the Violet flag or to the Red

flag, and also none of them is at any of the extreme ends, then what is the total number of

possible arrangements ?

(A) 24 (B) 48 (C) 96 (D) None of the above
162. Which of the following statement must be true ?

(A) Yellow flag is at one of the extreme ends

(B) The Indigo flag and the Orange flag are adjacent to each other

(C) The Blue flag is adjacent to the Green flag

(D) None of the above

163. A and B are 2 faulty clocks. A looses 10 minutes for every hour and B gains 10 minutes for
every hour. What is the time shown by A when the time shown by B is 7.00 p.m. on the
same day, if both clocks were set correct at 12:00 noon that day.

(A) 4.30p.m. (B) 5.00p.m. (C) 5.30p.m. (D) 6.00 p.m.

164. What is the approximate value of .(15_01)2 %730 ?

(A) 6125 (B) 6075 (C) 6025 (D) 5975

165. If the length of a rectangular field is increased by 20% and the breadth is reduced by 20%,
the area of the rectangle will be 192 cm?2. What is the area of the original rectangle ?
(A) 180 cm? (B) 190 cm? (C) 200 cm? (D) None of the above

166. A 5 cm cube is cut into as many 1 cm cubes as possible. What is the ratio of the surface
area of the larger cube to that of the sum of surface areas of the smaller cubes ?
(A) 1:6 (B) 1:5 (C) 1:1.25 (D) 1:25

167. In AABC, AD = DB; If DE | | BC and area of A ABC = 40 then area of A ADE is
A

B C
(A) 10 (B) 20 (C) 30 (D) 24
168. If 2*° —64'° = 0, what is the value of a ?
(A) 72 (B) 75 (C) 78 (D) 81
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e

~ b+ ‘ ~ .
169. DAl 2usld b——_—: A Bud 3eel 28l ? (a2 b -1 wu Rallui 9)

(A) 1 (B) 10 (C) 11 (D) 15
170. o DA 2uslani k244 7 Ui vl gladl y — x Al BHd Secdl ag ?

< >/

3 > k

(A) 15 (B) 30 (C) 45 (D) 90

171. ouu X L azdl 78000 ©, % 1200 uld i £l 8l 2] 89; R sun y -l azdl 52000 8, %
800 uld an- g2efl adl 2L €9, Seau ay ort auHi-l adl visunll g9l ?

(A) 16 (B) 12 (C) 14 (D) Guw A4 &S adl

g : QA 2ugldinl veaa 530 usd A4, 172 9 175 -1 sl 20l
2l adARll 247 ttud-) [Qotdl (@i 2004 i1 2005 W)

N3 12} Azl
“"i 5, HeilZogm, “3Ud
$usi i
N gust U
VIR WL
445 3. 50,000 @ w145 31. 75,000
2004 2005
172, SR UYL At 20044 S2¢)l WA scuHi Ul ?
(A) 3L 9,000 (B) 319,500 (C) 31.10,000 (D) 3..10,500
173. D2 Y4 s Amd 5204 an 2004 i arl 20054 ay v sul ?
(1) 212l (I $usi (1) ueun
(A) s5q (1) (B) $5d (Il) (C) &5 ()24 (1) (D) (1), (1) 2 (111)
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b+ a

169. In the figure below, what is the value of ,

(e and b are in degrees) ?
—a

(A) 1 (B) 10 (C) 11 (D) 15
170. In the figure below, k and [ are parallel lines, then what is the value of y — x ?

&
5
<€ > 1

€

>k
(A) 15 (B) 30 (C) 45 (D) 90

171. Village X has population of 78000 which is decreasing at the rate of 1200 per year. Village Y
has population of 52000 which is increasing at the rate of 800 per year. In how many years
will the population of the villages be equal ?
(A) 16 (B) 12 (C) 14 (D) None of the above

Instructions : Study the following diagram and answer the questions 172 to 175:

Distribution of income and savings of a family during years 2004 and 2005
Auto

Entertainment Saving Entertainment Saving
Clothing I
Clothing Travel
Travel
Food _ Food ,
Total Income : Rs. 50,000 Total Income : Rs. 75,000
2004 2005

172. What was the total amount spent on food in 2004 ?
(A) Rs. 9,000 (B) Rs. 9,500 (C) Rs. 10,000 (D) Rs. 10,500

173. For which of the following categories did the family spend more money in 2005 than they
spent in 2004 ?
() Auto () Clothing (1 Travel

(A) (1) only (B) (Il) only (C) (Iyand (Il) only (D) All (1), (II) and (1ll)
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a5

174. el &AHi 20044 20054 434 wAui Seal 25 a4l Ul ?

(A) 75% (B) 80% (C) 85% (D) Guu U4l 416 el
175. 43U G1_1L A 2004 A5 2005 Hi $eUHT 214 U2 Wi+l i 32¢)l 48 ?

(A) 16:17 (B) 18:17 (C) 17:18 (D) 17:16
176. BBHa2bl:  [5_ o5

A) 3.2 (B) Va-2 (C) J3-+2 (D) fa++/2

177, %is Sl U2 g saig soust d S8-i A0 243 uart- A 40{ ysd Ad 2d 8. (Jointly
varies). IR uari-il 40116 (34l / seus €l eougy 1 2154wl Al 2z 9. dl sl goua 4
sy uld Al {2 Syl uadHl 4ot 3ed) 9 ?

64
(A) %[}mﬂ/ac-ua (B) ?[}mﬂ/ac-ua (C) 3231/ seus (D) 163/ seus

178. 25 2i5l AU N 41115 scnsHi @A wsa 8. 2081 anld 284 3o QA 204 e 5 sas
QR st 9. oA 24l wel (el Slu dl 20 3o 51281 A 32 sausui vudl ag ?
(A) 35 (B) 45 ()50 (D) 60
179. ] [Qotdi-l vteuy 53 2u0E UaAH) aieL il
A+B22d AABoll Hicll B
A—-Bu2d AW Boll wdel &
A x BU2A AR Boll Qcl &
A 2B22d AA B dsdl B
A=BuA2d AA Bl &S B
(Aot ASl 520 @Qseu " PA Qofl Wizl " yud ® 2
(A) P-R+Q (B) P » RxQ (C) P+Rx Q (D) Px R=Q

180. ugldui eaida Spinning Wheel uz you ajvu (Even number) »ud A Acua- 5 o

wlacursy dvu (Prime number) »ud d- 2icuaru 3 2 8. dl wheel Uz ed) 2wl 568 ¢l ?

7 4
(A) 1 (B) 2 (C) 6 (D) 9
181, DA gelui oiusiadl A sul ddl 2qva 568 0 ?
1,2,9, 44,267, 1854, ........
(A) 2 (B) 9 (C) 44 (D) 267

182. A, Bl C A0 wud 18 [Raui 31 3,240 54 913 8. A %17 C 1 10 B 311,200, 2
Bt Caid 14 [Bauni 311,820 54185 43 O. dl B0l AB¥<) s2uell 32ell ¢4l ?
(A) 70 3L (B) 60 3L. (C) 803L (D) 503L
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174. What is the percentage increase in the amount of money spent in Auto category from 2004

to 2005 ?
(A) 75% (B) 80% (C) 85% (D) None of the above
175. What is the ratio of total amount spend on Travel by the family in 2004 to that of in 2005 ?
(A) 16:17 (B) 18:17 (C) 17:18 (D) 17:16
176. Find : /5 _ 2\/6
(A) 3-2 (B) J3-2 (C) J3-+42 (D) J3++2

177. The pressure of wind on a sail jointly varies as the area of the sail and square of the velocity
of the wind. The pressure per square meter is 1 unit when velocity is 16 km/hr. What will be
the velocity when pressure is 4 units per square meter ?

(A) % km/hr (B) % km/hr (C) 32 km/hr (D) 16 km/hr
178. Atank is filled by a tap in 15 hours. Due to some leakage at the bottom, 5 more hours are
required to fill the tank. Then if the tank is full, in how many hours will it be empty due to
leakage ?
(A) 35 (B) 45 (C) 50 (D) 60
179. Using the information given below answer the following :
A + B means A is mother of B
A — B means A is sister of B
A « B means A is father of B
A =B means A is daughter of B
A = B means A is brother of B
Which of the following means P is aunt (Mausi) of Q ?

(A) P-R+Q (B) P+ RxQ (C) P+Rx Q (D) Px R=Q
180. The probability of getting an even number on spinning wheel as shown in figure is land
2
that of a prime isE. What could be the missing number on a wheel ?
3

8 4

7 ‘)
(A) 1 (B) 2 (C) 6 (D) 9

181. Find the wrong number in the below series :
1,2,9,44,267,1854, ........
(A) 2 (B) 9 (C) 44 (D) 267

182. A, B and C together can earn Rs. 3,240/- in 18 days. A and C can earn Rs. 1,200 in 10 days
whereas B and C can earn Rs. 1,820/- in 14 days. What is daily earning of B ?

(A) 70 Res. (B) 60 Rs. (C) 80 Rs. (D) 50 Rs.
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183. AR EAR X, Y 247 Z 2145018 () / seus, 27 (3 / ses 213 36 Bl / seus ssusll 3600
422 divh adousiz 25 u €13 8. dil s o orowmAdl A5 o Bauni As 20 €1s A3 53 B, dl
A2l HAHAIR 5013 Wl ? :
(A) a3 suf bug 20 MRz ) (B) 3 suloug 24 M2 v
(C) 3 sul tue 30 MRz e (D) 3 sul ue 36 M2 ug

184 [3201 g1r1 Al 512 uR sRcu 2iadl W5 §6 W 2igd: 21N B 214 2igd: A8 WR-uui s34
set-i [(Betiflex-fl dvar e 284 8. oA d WR-0ni 100 B+ 53 B dl ga Wl 31. 3,500 B qa
o A WU 200 (5401 62 B dl g w2 31.4,000 1u B A AS HRAE AN g w2l 314,250 2
sl dl d Szeu [Beidle: syl ¢al ?

(A) 175([3Q (B) 250(3Q (C) 27534 (D) 350(3+)
185. s [Qu arii udell Ba Adar 9. di a arui 32a Auaiz g9 ?
(A) 51 (B) 52 (C) 53 (D) 50

186. 315 AHIAR G1Y AGPSIRL ABCD Wi BD = 2 8, dall A BCD il 6481 % HRUL v ), dl d AHidR
ol Agpsiald AAsu S2¢ 4 ?

B C
X X
X

A D

(A) 3 (B) 23 (C) 443 (D) 943
187. Sl 21 elagivt s uyeni ga ol v ga sl aiva s2di 24 Feel aud B, di d AU

&lail s2ell g9l ? '

(A) 17 (B) 18 (C) 19 (D) [do1dl 21yl &
188. AEIUAML: b —[b— (a+ b) —{b— (b—a + b)} + 24]

(A) 0 (B) a (C) 2a (D) —a

189. 100 2adlsHi-l Heus 458, ueflall wieiz udl 3 6 xadisd 28 213 439 oigd 82 24 344313
AHUNT S 8, dl AL s Sea)l 89l ?
(A) 44.45 (B) 44.55 (C) 44.65 (D) 45.55

-

190. 2:15 sau3, allun-d RilR2 5i2l 214 scus sidl 324 vyl si-uad) ?

1° 1° 1° D) Guat U4 S Al
() 71 ®) 151 ©) 22} (D)
191. Budaidi: (x-y) (@ -y T (x-T+y-1)
(A) x2+2x Tyl 4y2 (B) x2y?2
(C) x1y2+y'x2 (D) x 1y

192, s mesia Bstarn agsiolu RIARIE wrell wd-) cuggt wealBigaid Asdl weadvus
(medians) -l ¢S 5 24 2410 8, dl sulHl dous 32el g9l ? |
(A) 2440 (B) 13 (C) 213 (D) 10
CSP-01 - A 44 [Contd.
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183.

184.

185.

186.

187.

188.

189.

190.

191.

192.

X, Y and Z are 3 runners with their speeds of 18 km/hr, 27 km/hr and 36 km/hr run along the
circular track of 3600 m long. They start at the same time from same point and run in same
direction. When will they meet for the first time ?
(A) 20 minutes after they start (B) 24 minutes after they start
(C) 30 minutes after they start (D) 36 minutes after they start
The monthly expenses of Kiran on his car are partly constant and partly vary with the
number of kilometres he travels in a month. If he travels 100 km in a month his total expenses
will be Rs. 3,500/-. If he travels 200 km in a month, his total expense will be Rs. 4,000/-. If
in a month his total expense is Rs. 4,250/- how many kilometres he has travelled ?
(A) 175 Km (B) 250 Km (C) 275 Km (D) 350 Km
The first day of a leap year is Sunday. How many Mondays does the year would have ?
(A) 51 (B) 52 (C) 53 (D) 50
In a parallelogram ABCD BD = 2. The angles of ABCD are all equal. What is the area of
the parallelogram ?
B C
X X
X
A D
(A) 3 (B) 23 (C) 43 (D) g3
In a group of Buffalos and Ducks, the total numbers of legs are 24 more than total number
of heads, how many Buffalos are there ?
(A) 17 (B) 18 (C) 19 (D) Datainadequate
Simplify b — [b — (a + b) — {b — (b — a + D)} + 24]
(A) O (B) a (C) 2a (D) —a
Mean of 100 observation is 45. It was later found that two observations 28 and 43 were
incorrectly recorded as 82 and 34. The correct mean is
(A) 44.45 (B) 44.55 (C) 44.65 (D) 45.55
At 2 :15 hours, the minute hand and hour hand of a clock from an angle of
1 [s) 1 [s) 1 [s)
(A) 7— (B) 15— (C) 22— (D) None of the above
2 2 2
What is the value of (x —y) (x3—y3) ' (x ~1+y—1)?
(A) x2+2x Ty 4y (B) x2y?
(C) x'y?+y 1y (D) x'y'!
The medians of a right angled triangle drawn from vertices of acute angles are 5 and 2\/5 .

What is the length of hypotenuse ?

(A) 2440 (B) 13 (C) 213 (D) 10
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193. A3x+y =192 x + 3y = 11u dl y L Bud 204l
(

(A) 7 (B) —7 C) 2 (D) -2

Yart : (el 5 5 2uden wadl (U2 i 194 231195) aier 2l w2 andd a 2uia
(Al 1249 11 vaia © 3 44l @ioy [Risey yaig 53l
194, dXARUPQRS g AxAsn 324 adl ?

(At 1 deizad udious 18 A 69,

Qe 1 : drizadl dous 20 A Al qtud sl

(A) st [dsus 1y 9.
(B) #uzt [t I vaia 69,

(C) [kt 1 24 A5 28 wui 8, uig Afua [ 2sg uaid .
(D) [Qtumt 1 244 1 2is208 yeL yuia 44,
195. s qfui dww [Rendlzidg w320 ag 32g O ?
(Qaet 1 : aolwi 45 5121 244 30 91521 8.
(et 11 : 95120 A2 A% 60 24 91532l A3 A% 50 .
(A) w= [aae 1y 6.
(B) st [Qane I yufva 69,
(C) (st 1 241 s 2 val 8, uig SiSun [t 21s¢ valfia .
(D) (a1 24 11 25208 ut vai =4,
196. o 215 254 2 vl g U1y 3160 2 2 o 6] 2 Al 59 1 31.63.75 €1 dlL A 253

PECINEIR |

(A) 3. 180 (B) 3L 240 (C) 3L 300 (D) 3L 360
197. Wi 2isl Wiawmi Widl yelaol v 58 & ?

(A) 99884 (B) 99966 (C) 99856 (D) 99888
198. 7+l @y s (Least multiple) s41l & & 36, 9, 1524118 a3 *u2Ldi 4 4 4N} ?

(A) 343 (B) 364 (C) 371 (D) 378

199. 05 dorazar dous a-dugions s2qai el ©; da - WREM 1 254 Axsa auad -l
WRMME F2dl 9. dl d dorRiud 50 Al

2 8
(A) 2 (B) 6 C) 3 (D) g
200. A gl AD = 4, AB = 3,214 CD =98. dl AAEC 1 &g s2¢g ad?
A

i

E

C D
(A) 45 (B) 9 (C) 13.5 (D) 18
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193. If3x+y =19 and x + 3y =1 find value of y.
(A) 7 (B) -7 (C) 2 (D) -2

Instructions : Decide whether the data given in statements | and Il are sufficient or not to
answer the given questions (Q. No. 194 — 195) : Mark the correct answer.

194. What is the area of rectangle PQRS ?
Statement — |: the breadth of rectangle is 18 cm
Statement — II: The Length of Rectangle is not more than 20 cm
(A) Statement — | alone is sufficient
(B) Statement — Il alone is sufficient
(C) Statements — I and Il both are together sufficient but neither statement alone is sufficient
(D) Statements — | and Il both together also are not sufficient.

195. What is average weight of all students in a class ?
Statement — I: There are 45 boys and 30 girls in the class
Statement — II: Average weight of boys is 60 and average weight of girls is 50
(A) Statement — | alone is sufficient
(B) Statement — Il alone is sufficient
(C) Statements — | and Il both are together sufficient but neither statement alone is sufficient
(D) Statements — | and Il both together also are not sufficient.

196. If the simple interest on a certain amount for 2 years is Rs. 60 and the compound interest
for the same amount for 2 years is Rs. 63.75. What will be that amount ?

(A) Rs. 180 (B) Rs. 240 (C) Rs. 300 (D) Rs. 360

197. The greatest number of 5 digit which is a perfect square is
(A) 99884 (B) 99966 (C) 99856 (D) 99888

198. What is the least multiple of 7 which leaves a remainder of 4 when divided by 6,9, 15and 18 ?
(A) 343 (B) 364 (C) 371 (D) 378

199. What is the area of the rectangle whose length is twice its width and whose perimeter is
equal to that of square whose area is 1 unit ? 5 8

(A) 2 (B) 6 () 5 (D) ¢

200. In the figure below AD =4, AB = 3 and CD = 9. What is the area of A AEC ?

A7B
E
C D
(A) 45 (B) 9 (C) 135 (D) 18
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